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AKAJIEMHA NETPOBA

34 [Bparankos Pycnan BP|Jla| 1 [20]57/29]23 17,25{15| 2 | ya-kan [17025]19'25
99 |'pechxo déxop BP|Jla] 2 2515610 47:02/15| 2 | Bn-kn [47'02/49'02
3 [Kpo#rop Boraan 3 [Ja]3]30'59] 3 : i
4 [Mymun Braancnas 3 |Jla|4[34"33[26] 4| [+ : S
7 |Kononos Anexcanap Al H || 5 [43'55] 7115025 : 3 -
10 [Beaosepos Jwwpuit H | la ! : 9 (I
12 {Xosxysos 'ne6 3 | Jla y ' ' ’
14 |Bap6orun Jisurpuit H M| [ ! ! A .
15 {Llynsrus FOpuit Kl H [ Ja ! ' : ’
17 |benosepos Huxura H |Jla ' ' ' v
21 /lynapes Anexcanap 3 | L ' y ' .
22 [Macnos Huxwra H | Jla ! : : I
23 [3apwuuxuit Apcennii Al H [ Jla ! y ! '
24 |Monos Muxawun 3 [ /Ia ! ! : y
25 [iOuycos Apcnan H | Jla ' ' ' :
26 |Borarsipes [Imutpuit H |/la N . : '
27 [Manroros Hazwp H |Jla ’ : : !
29 |[Kpsuios Matseit H |/a ' : : :
35 [Xapuronos Slpocnas H |Jla : l I f
71 {Yeprummn Erop 3 |[Jla H : : :
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MOCKOBCKAS AKAIEMHSA XOKKES (aen)
Mocx

2 [Fanxyp Jlnana BP | Jla 4 30,59(27| 2 MOAH [30,59{32 59
8 |[Bynsena Borgana H [Jla ! 32;39/8 | 2 | 3pkn [32'39[34'33
11 |[Toctrosa Beponuxa H |Jla ' 48178 | 2 | vakon [48'17]50'17
13 |®enopeu [lapss Al H | Jla N ! . :
14 |Kajtnosa Apina H | Jla J X 3
16 |lopnosa Ennzasera H | /la ' l I l
17|Barposa /lapss H [Jla : . LI L
18|Sicrpe6osa Anna 3 [Jla v . il
21 |Conomayx AHHa 3 |/la ’ ; . :
22|KOcynosa Kamwunia H | la ' ’ ' '
23 [lanononsckas Mapus H |[la 4 : x :
24 [Muurycruna Emusasera 3 |[la L . A :
27 [Kanycruna Braxtopus Al 3 |]la . : : :
28 |Tasuna Esresus K|l 3 |[la : : ! .
33 |Xonoxosa [lapss H | la . ' : :

A i t 1

t t t f

t t f f

t t t t

t t f f

t t t f

t t t t

IModnucs
Termruna Jlapuca Jletixun Anexcasap % - -

Pe3yneTaT no nepuogam

Bpems wrpsl Bpar

]

g&|8
8(8|8

R|E8

— = e —
- — = —e —

B

Bpems matua
8 B &
13 5074)

Crenanuies ﬂw 1’

Jlapun BI‘IC(‘JIABII/ 11‘/

Cyase B GpHraze

KyxoBerko Arapei

=
BT

/UV

B




